HE68EEF/I RV KRRV FT B HE 2015/7/5
B M

Li-c | BRE®) | #E# |ssmeoo| B | tors | LBh, | #xaz | e

@) @) 2 — 0|5 — 1|10 — 2231 — 181
FEEAE(B) 2 — 1138 — 0| (2) ( 4 ) ( 8) ( 50 ) 1
4 — 2|6 —
105 — 103|126 — 78
X @) 1 — 1|4 — 2|8 — 4229 — 170
T 1 - 2 3 - ( 0) ( 2) ( 4) ( 59 ) 2
2 — 4 6 —
103 — 105 126 — 65
X X 0 — 2(0 — 6|0 — 12[/143 — 252
EHET(-A(B) o - 3 o — 3 (-2) ( -6 ) (-12) (-109) 3
— 6 — 6
78 — 126 65 — 126

L1—-D |[/L—%—XA| MOMO 24—0X BB % | RAUME ,;fafﬁ BERRE JIE 2

@) @) 2 — 0|5 — 1|10 — 3237 — 112
et A 3 — 0|2 — 1| C2) | Ca) | C71) ( 125 ) 1
6 — 4 — 3
126 — 0 |111 — 112
X X 0 — 2|0 — 6|0 — 12| 0 — 252
— 6 — 6
A—To | 0 — 126 0 — 126
X (@) 1 — 1|4 — 2|9 — 4238 — 111
77]__9;(1—23—0 (0) (2 ) (5 ) (127 ) 2
3 — 4|6 -—
112 — 1111126 — 0
L1-CD MOMO I+—H9X | IL—F—XA BEIEAL F—L%
@) 1 HETE(B)
BERAELT—A(B)
3 — 0 2 I—%—XA
© 3 EE
B
2 - 1 4 TA—9R
@) 5 FEEFELT(—A(B)
HEm(B)

2 — 1 6 MOMO

1/10 R—=2




RE%: FBEIRRKREEHEZFY77 i
EE: HAEL1-—C)

HAEES: 1 (BEAMB) vs JBE)
£15: IFRNIRAR-vEs9-

L1—C

BAEMRB) 2 - 1
alE RKE 21 — 14
D1 2 21 — 16

INEFE BT —

D2 2 21 —
3 HF -

ki T& 14 —

D3 0 7 —
B #bF —

2/10 R—=2

16
15

21
21

i

=¥ 8T

AW XF

Rt BT

kel
W
A3
St
N

<t
i
5
LI

AN FR



KE4: FSRIRRRXKEEFIFT7 Xk,

2B H{EE(L1—C)

HEEES: 2 GE=Zvs BBEAELT—A(B))

=5 IFRINRAR-YtU4-

i

#3t EET
D1

=
m
il
At
._H

<
o
LUsH

D2
AR F

=H XEF
D3
AW XF

L1—C

21 —

21 —

21 —
21 —

3/10 R—=2

13
10

BEALT —R(B)

T X8

XE BF

FH BEF

=K =E&F

RIE F

B BT



R4 FBRIRRAREZF)77 gk

#B: HE&E(L1—C)

HEEE: 3 (BEAEB) vs BEFALT —Z(B))
£15: IIFRNRAR -Vt 45—

L1—C

AEE(B) 3 - 0 BEAELT(—2(B)

ik & 21 — 15 R EE
D1 2 21 — 18 0

=K BF — KE BHF

B #BF 21 — 7 FH BF
D2 2 21 — 14 0

Bl KX — ER ERF

WH BEF 271 — 192 KRIL Fik
D3 2 |21 — 12| ¢

INEE T — BH BF

4/10 R—=2



RE%: FBEIRRKREEHEZFY77 i
#EEB: H{AEL1-D)

HAEES: 1 (BEAMB) vs JBE)
£15: IFRNIRAR-vEs9-

L1—D

JL—F—XA 3 - 0 MOMO

BH OEF 21 — 0 INEFFF EE
D1 2 21 — 0 0

EF =F — Kig H

BA ERx 21 — BR EF
D2 2 21 — 0 0

KL =F — Fik AEXF

EH ER 21 — 0 HHE 0%EY
D3 2 |21 — 0] o

ILEZ LNDH — INEFTF RS

5/10 R—



KE4: FSRIRRRXKEEFIFT7 Xk,

2B H{RE(L1—-D)

HEEES: 2 GE=Zvs BBEAELT—A(B))

=5 IFRINRAR-YtU4-

MOMO

L1—D

)1

R EiF
D1
HE V&Y

INEFEF EE
D2
Bk AEXF

KA 0z#Y

D3
KE B

6/ 10 R—2

21
21

21
21

21
21

IH—H R

B =HKF

2B EF

= AR

M &

HiE EFF

i N



R4 FBEARRREEFEFII7 ik

2B H{RE(L1—-D)

HEES: 3 (BAEAB) vs BEALT(—A(B))

=5 IFRINRAR-YtU4-

IL—F—XA

BH ==
D1
LWER LDOH

BA EmxX
D2
R =F

mH EF

D3
L& =7

L1—D

2

21
20
11

21
21

7/10 R—

19
21

21
21

HiE EFF

=iE AR



R4 FBRIRRAREZF)77 gk
#EEB: H{AE(L1—CDRE)

AEES: 4 (BBEALT(—A(B) vs MOMO)
£15: IIFRNRAR -Vt 45—

L1 —CDR%

FBEELT(—R(B) 3 - 0 MOMO
R EE 15 — 0 BR EiF

D1 2 15 — 0 0
KE BHF — INEFF SR
=K EE&EF 15 — 0 FiE AEF

D2 2 15 — 0 0
ER ERF — RE Uz
REE FiL 15 — =R EiF

D3 2 |15 — 0] g
BH BF — Bk AETF

8/ 10 R—2



KE4: FSRIRRRXKEEFIFT7 Xk,

FEH: FEAE (L1 —CDRRS)
HEES: 5 (CAZ vs 7A—YX)
£15: IFRINRXRAKN-Yt/48-

i

L1 —CDRE%

<}
o
]
LUH

D1

I}
=
A
S
N

AW XF

D2
AR FR

55 £87
D3
#3t EET

21 —
21 —

21 —
21 —

18 —
10 —

9/10 R—=2

17
12

20
10

21
21

IH—H R

=iE AR

i N

28 EF

EiE ZRT

Mk & F

HE =MF



KE4: FSRIRRRXKEEFIFT7 Xk,

FEH: FEAE (L1 —CDRRS)

HEES: 6 (BEBEAEB) vs L—F—XA)

=5 IFRINRAR-YtU4-

=P (B)

L1 —CDRE%

T &

D1
Bk &EF

BiR #bF

D2
Al KX

A IEF
D3
INEE fAlRD

20 —

21 —

21 —
21 —

10 /10 R—2

21
18
11

12
13

13
14

IL—F—XA
EH ==

WER LD H

BA EmxX

R =F

BH EF

£ =7



